4.02 Slope
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Slope Review Video Click Here

Example 1 Video Click Here

The of a line can be positive,

negative, "0," or undefined. If the slope of a line

is "0," it's . If the slope of a

line is "undefined," then it’s

Line AB contains points A (1, 2) and B (-2, 6).
Find the slope of line AB.

Parallel and Perpendicular Lines Video Click Here

Parallel lines always have slopes that are
. If the slope of a line is 3, then the

slope of a line parallel to that line is

Perpendicular lines have slopes that are

, and their

product is always . If the slope of a line is
5, then the slope of a line perpendicular to that

line is

Parallel & Perpendicular Slope Practice Video Click Here

Parallel Slope

Slope

Perpendicular slope

Undefined



https://drive.google.com/file/d/1J0DGU3f5etSKIPivzFyBlKV4_5FMGcj6/view?usp=sharing
https://drive.google.com/file/d/16zq9uPSImq3jqmvbdTc9nhOTticxHrhY/view?usp=sharing
https://drive.google.com/file/d/1PG_vJORpKM4UvAK0lck-i-SX9WuitBZK/view?usp=drive_link
https://drive.google.com/file/d/1l1RUjWXKsqMqAfopqdtHBoxyO_qML9DE/view?usp=sharing

Equation of Lines Review Video Click Here

There are several ways to write the equation of a line.

Here are the three most common ways:

Slope-intercept form: y = mx + b

where m is the and b is the

Point-slope form:y - y1 = m(x — x1)
where (x1,y1)is a on the line and m is
the

Standard Form: Ax + By = C
where A, B, and C must be integers. This means no

or . A must also be

Writing the Equation of a Line

Practice 1 Video Click Here

Practice 2 Video Click Here

The equation of line GH is y = -8x + 3. Write an
equation of a line parallel to line GH in
slope-intercept form that contains point (3, —2).

Write the equation of a line parallel to the
following line that contains the point (4, —6).



https://drive.google.com/file/d/1l1RUjWXKsqMqAfopqdtHBoxyO_qML9DE/view?usp=drive_link
https://drive.google.com/file/d/1h31XEb5KqIl0t30GnR0qkvWC6sHPN4zj/view?usp=drive_link
https://drive.google.com/file/d/15CwbKHnTWBp36Tk_d4XrESkcYNY_uONr/view?usp=sharing

Practice 3 Video Click Here

Practice 4 Video Click Here

The equation of line TU isy = 2x + 7. Write an
equation of a line perpendicular to line TU in
slope-intercept form that contains point (2, 3).

Write an equation of a line perpendicular to the
following line that contains the point (4, —3).

Practice 5 Video Click Here

Practice 6 Video Click Here

Find the equation of a line that is perpendicular
to line n that contains (P, Q). Write your answer
in standard form.

Write the equation of a line in standard form that
has x-intercept (A, 0) and y-intercept (0, B).



https://drive.google.com/file/d/1xDhWQhc-tJFl9Hb-lyxE8BI6flKoEVPo/view?usp=sharing
https://drive.google.com/file/d/1U7OI1__2fsoEa-SyqSHYz8u8afDruE-W/view?usp=drive_link
https://drive.google.com/file/d/1r0nfiFtpOJlYLeDIZxKi3j3vSIP-dNQ6/view?usp=sharing
https://drive.google.com/file/d/1e5w5w88nXg9RzFIHkmyDbb1KKGT8ADsa/view?usp=drive_link

More Practice Try on your own then check with Video Click Here

Find the slope of line AB

Classify the lines below as parallel,
perpendicular, or neither. Provide proof of your
answer.

Write the equation of a line parallel to the

following line that contains the point (4, —6).

Write an equation of a line perpendicular to the
following line that contains the point (4, —3).



https://drive.google.com/file/d/1NUIauCfURrDbT22MRyss8Qf2iwkeAKl5/view?usp=drive_link

An air traffic controller is monitoring two aircraft on a radar screen. The flight path of the first aircraft,
aircraft 1, is shown. A second aircraft, aircraft 2, is currently at (-1, 0) and will need to travel in a
direction parallel to that of aircraft 1 so that they do not crash into one another. Find the equation of
the flight path of aircraft 2 in standard form.
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Extra Practice for 4.02



https://forms.gle/B2NAp18A4fmJGbUR6

	 
	 
	Slope Review Video Click Here 

	Example 1 Video Click Here 
	The ____________ of a line can be positive, negative, "0," or undefined. If the slope of a line is "0," it’s __________________. If the slope of a line is "undefined," then it’s __________________. 
	Line AB contains points A (1, 2) and B (-2, 6). Find the slope of line AB. 

	 
	Parallel and Perpendicular Lines Video Click Here 
	Parallel lines always have slopes that are __________. If the slope of a line is 3, then the slope of a line parallel to that line is ________. 

	 
	Equation of Lines Review Video Click Here 
	There are several ways to write the equation of a line. Here are the three most common ways: 
	Slope-intercept form: y = mx + b​where m is the _______________ and b is the ________________. 
	Point-slope form: y − y1 = m(x − x1)​where (x1, y1) is a ___________ on the line and m is the _____________. 
	Standard Form: Ax + By = C  
	where A, B, and C must be integers. This means no _____________ or ______________. A must also be _______________. 

	Writing the Equation of a Line 
	Write the equation of a line parallel to the following line that contains the point (4, −6).  
	Line AB is shown on a graph. A is at negative 2, negative 1. B is at 2, 1.
 
	 

	 
	Find the equation of a line that is perpendicular to line n that contains (P, Q). Write your answer in standard form. 
	 
	Write the equation of a line in standard form that has x-intercept (A, 0) and y-intercept (0, B). 

	 

